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' Mathematics Dept. | Final Exam for Level 1 - L aMay.
Icaculty of Science Subject: Computer Science MC100 ’ | ;é
! Assiut University Time: 2 Hours I ST
‘J - Ist Term 2017/2018
i A f Date: December, 28, 2017
' Choose the correct answer and write it in the answer table:
Section 1: from 1 to 20 (20 marks)
L, temporarily stores data and program instructions dunﬁgpﬂnlssmg 7 o

a) Secondary storage

b) ALU

The devices store data and programs when they are not be

ing used in processing.

| d)Primary storage

a) Primary Storage devices

c) Output
devices

b) Secondary
storage devices

I d)mlnput devices |

I

| 3. Where the manipulation of symbols, numbers, and letters occurs, and it controls the other partsvof the

computer system.

' a)ROM

b) RAM ! c) CPU

~ | d) Control unit
L

4. ~Tr;s;mlt_ssugr;e;lspeuf;lmg to pass information in bi-directional.

‘ %
! a) cards
. Gigabyte= ..

............................

b) Control bus ‘

c) Address bus

f d) Data bus

SRS (=

L
| a) 1 trillion bytes

a) Output devices

6. It provide the detailed instructions tha

b)1 billion bytes

bytes
|

"b) CPU

c)1 thousand

| d) 1 million bytes

] o

t control the operation of a computer syster.

¢) Address bus J d) Software

7. The ope}ating system’s ability to divide the computer program into »;ariabrllé-irévhéth portions and to !
store only a small portion at a time in primary memory

)cru

b)ROM c) virtual

storage

b It fp}o‘viaés_é-hﬁiﬁier?awcgﬁe‘tween the computer hardware and the

" a) Input

' b) Operating P
System %

I
1

user or the application software.

d)RAM

'd) Oafput o




9. A well designed corr

|
|
|
i

bﬁier .plv'ograrm must be:

a) correct and accurate

b) easy to

maintain and

update

a) comments

10. It will not stop the program but results will be inaccurate.

b) logicerror

11. It translates high-level .language into machine-language a line atatime.

a) Interpreters* _

b) Assemblers I c3 Comp»l'»I”é'rmsA -

12. Which Matlab command is usually use

d to repeat a set of commands an unknown number of tiines?

b)if

3. we can classify the algorithm in three different type

L

. 1) branching,calculation

” 16 What« is the value of b w

19 What is the following will correctly.d

b)send,selection,

branching

. In Matlab, which of the following symbols cannot be used in the condition statement of an While
statement?

by ==

. 3iven the nratrix inputin MatlabA=[157;264;3

b)6

|
here x=[ 12 5 4]; b= find(x>2) ;b =

17. In flow chart, we can e

b)[1 2]

xpréss to the discussion with

2. In fllll-é‘ii'()—l—ldi‘iiﬁruif’_\-;‘;\;(ﬂ rt with the sentence function [s1,52,54] =

} b)4

efine x,y as symbols

a) symxy

b) syms x y

} d)a,bandc
understand

c) run-time ‘ d) sy;ibx error

d) function

c)sequence,

i d)sequence,sclection,
branching , loop | branching
i

8 2], which value is referenced by A(2,1)?

| )5 4] fd)joo11]

------------------

fr(a,b), how many outputs in the provram?

¢) sym (x,y)

j dr)ksynlb XYy



| 20. The command clc is used to ........

’

a) Remove all the value variable

b) Remove every
thing in command
window

¢) Clear all data
in command history

d)" Remove every thing i

Answer Table Section 1

Question

Answer

1 20 19

18

17

16 | 15|14 | 13

12 | 11 | Question

Answer

 Section 2: (21 marks)

1.What is the value of my after the Matlab code below executes?

] m=3;n=4;s=6
if'm>n
if m>s
mv=m;
else
mv=s
end
else
if n>s
! my =ny;
‘ else
myv =s
end
end

b)4

c)3 d) others




2. The output of the following code is:
s=0;
fori=I:3

s=s+10; ,
end |
disp(s); :‘
a)10 b)30 )6 d)0 o
3. In the following code
Function Sum = fr(a) ‘
Sum =30, : i
Ifa>=1 |
fori=1:10 |
Sum = Sum-+i ‘
end i
end
put a=0 then the outputis....c..covvevvvecrieercnesnne
a)15 b) 30 c) 85 d) 10
4. Convert 13.6875 to binary o
- a)1011.1011, b)1001.1011, ¢)1010.01011, d)101.011, )

5. Convert the following to their bina

ry equivalents: 75733

a)111101111011 b) 1010110101 ¢) 11101111011 | d)11101110100
6. The summation of 453g+542¢=.......... ... o
2)1227, b)1215, )10775 d)995,
7. The number 75733 equivalents to hexa-decimal number

b)BSF a)FF7 | a)E7B a)F7B

i
Answer Table Section 2

71615141312 Question
Answer
¢



‘Section 3: (9 marks)

f Answer the following

'A.Draw a flow chart and write th algorithm of the following program

compute and print the sum of N real numbers

Iélowchart Algorithm

b find the error and correct it in the following program

n=1:

for k=1v:1
if p<0

P=p*k

== Best Wishes ==
eﬁr Hlaa Fakim eﬁr %me 5[2:.‘17%
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